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@ 66 cm? @ 121 cm? (@)8640m2
@ 1331 cm? ® 132cm?

BEHA= AAZ o] 670l B2 AYol=

(12 x 12) x 6 = 144 x 6 = 864( cm?) YU T},
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D)45 cm? @ 48cm? ® 52cm?®
@ 57cm3 ® 60cm?

(5% 3) x 3 =45(71)
1 x 45 = 45(cm?)
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@9 a4 x3x2=24(cm?) Ut
@9 Hu 3x3x3=27(cm?) JUtt.
®9] Ru]E 4x2 x4 = 32(cm?) YYh.
(em?)
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@e] Hul 7x2x2=28(cm®) JYtt.
®2] Hu]E2x4x2=16(cm?) Yt
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@ 24cm? @ 25cm? ®)28 cm?
@ 30cm? ® 34cm?

(RAgAA e 7o) =(7}=2)x (A2)x (E°])
=2X7x2=28(cm?)
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O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA
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@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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® 6m?

@ 53m?

@)900000 cm?

@ & BAE ] Ao|7t 1.2m 1 HKHA ] Hox]

® 7F27F 1m o] AI27}0.5m, E°17F 2m ¢ A8 HA o] 2o
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HOE m?® 2 1HA Bl
@ 6m?

@ 5.3m?

® 900000 cm® = 0.9 m?
@12x1.2%x12=1.728m?
®1%x05x2=1m?
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® 168 cm?
@ 168000 cm?
@ 168000000 cm?

cm? Q12| FoHA| L.
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@ 16800 cm?

@ 1680000 cm?

~&B

1m = 100 cm,

1em® = 1000000 cm?
wHebA] 168 m3 = 168000000 cm®

(F1) = (712) x (A&) x (=9])
(FT])=3x8x 7 = 168(m?)
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O 2164 cm? @ 2185cm? ® 2256 cm?
C@DQlQ?cm3 ® 2952 cm?

ASHA= 2A 29 dol7t BE Z5U T
(A oh=t=)x (A=)

= (3 =AM 2] ] dol)x (3t KLAfE] ] Zol)
=13x13 =169 0|02

H4mA o 3 mAje] o] Aol 13emYLTh
A2} Fm))= (3t ®ATZ] 9] ol)x

(& ZAF Q] dol)x (3 mA 9] Zo])
=13 x13 x 13 = 2197(cm?®)
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// 1écm /// /18/cm
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® 7} lem @‘4’, lcm ® 7} 1.5cm
@ 4, 1.5¢cm ® 7} 2cm
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2.7L = 2700 mL = 2700 cm?

(7} T2 29| £o])= 2700 + (25 x 12) = 9(cm)

(U 52] £2] £0])= 2700 + (15 x 18) = 10( cm)

w2tA U 59 9] £0|7F10-9 = 1(cm) H EHYTh
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~8em- )
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O 240 cm? @ 300 cm? @ 360 cm?
@ 420 cm? (@)480 cm?

S5 ~
(FlollA & 2eh)=(Z4Hol)

(oA 2 2eF)=(FH)
ZAylo)= (8 x8)x2+

= 128 + 352

= 480( cm?)
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@) (6+6)x2x4

@ 6x6x6

® (6x6)x2+ (6x6)x4
@ (6X6+6%x6+6x6)x2

® 6X6+6X6+6X6+6X6+6%X6+6%6

BEAAe] Aol Tt P
@ o4 A Holo|
@ (RHel)x2+(@Hel)
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IX5x2+(9+5+9+5)x[_|=398
90 + 28 x| =398

28 x| _|=1308

[ ]=308+28 =11(cm)
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@ 20em @ 19cm @ISCIn @ 17cm @ 16cm

B ~

(BsAe] ZEol) = (2 e wol) x6

1944 = (3t A <] Yo]) x6

(3 A Hol)= 1944 + 6 = 324( cm?)
A5AA 6719 W2 5 Ao

A5AA| o) o BA2|9) DolE | Jem 2} 5HH

[ Ix[ ]=324,[ ]=18(cm)
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@ 144 cm? ® 168 cm?

m
£
>
O
alle}
i)
N
rlo
o
__)&‘
ki

AEHA & O Wol= 2x2 =4(cm?)

I BF2 A|HA 7718 22 Aol2x WY &
TSHH 6 x 7 = 42(7H)

= Ho] HAA

L
1o
>
rr
(=2}
=
En)
£
i
ju
=
L
2
2
rr




16. @ 2AZ7F6ems] AsAAE €] A4S wet
=7 ZebA 2 7] Y 2

2 em?® GU7F?

E
A redsye. o A=

|
/ |
I |
6 cm| [
\\ // )
’ 7 6cm
~6cm- 7
@ 92cm? @ 96.cm? ® 100 cm?
@ 106 cm? ®)108 cm?

w4 216 x % — 108(cm?)
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6em /1
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“““““ 16cm---"""
O 763 cm3 @ 645cm?
@ 524 cm? ® 420cm?

~&B

HpZ o] 2 A5 o] FujofA gkl Hlof 9l

%3] Wyt
GCIIl‘_I ______ 4cm 4cm
=== —

8enj{L2TEEEES -
4 S~16cm~~
~d6cnr - sem 3em

(=F9] Hu]) = (16 x 6 x 8) — (16 x 3 x 4)
= 768 — 192 = 576( cm?)
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@ FZE 7€k 5ol e B2 Idj2o|E R Hul= ¥
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O =°] xo) B= FE9] Holo g2 ¥istA] 5yt

6 (9% B9 H1)) = (LE2% E9| 71)
15 x 30 x 20=(Atch&]&E2] B o])x20
={(@+©)x30+2}x20
@+ © =30cm
ohebA] 2 22 @, @YY
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/ 16cm
/ //

Ayo] : 1936cm’

@5760 cm? @ 5400 cm® ® 5216 cm?

@ 4924 cm? ® 4866 cm?

712 16 cm, A2 18cm?Ql AL S-S
T3 Byt

16X 18X 2 + (16 + 18 + 16 + 18) x| | = 1936
576 + 68 x| | =1936

[ ]= (1936 - 576) + 68 = 20( cm)
(F1]) = 16 x 18 x 20 = 5760( cm?)
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